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1. The terms, 'anterior and posterior’ are

synonyms of :

(A) Frontal and back

(B) Vertebral and dorsal

(C) Lateral and medial

(D) None of the above

2. The study of muscles is called :

(A) Otology

(B) Anthropology

(C) Mycology

(D) Anthropometry

3. At the time of release of discuss :

(A) Centripetal force is more than

centrifugal force

(B) Centrifugal force is more than

centripetal force

(C) Centripetal and centrifugal forces

become zero

(D) None of the above

4. Newton’s Second Law of Motion is also

known as :

(A) Law of Inertia

(B) Law of Action-Reaction

(C) Law of Momentum

(D) Law of Gravitation

5. Lever system prevalent in human arm is :

(A) Class III

(B) Class II

(C) Class I

(D) None of the above

1. ^vxz* vkSj ^i'p* inksa ds i;kZ;okph gaaS %

(A) ÝaVy vkSj i`"B

(B) ofVZozy vkSj MkWlZy

(C) ySVjy vkSj ehfM;y

(D) mi;qZDr esa ls dksbZ ugha

2. isf'k;ksa dk v/;;u dgykrk gS %

(A) vksVksykWth

(B) ,UFkzksiksykWth

(C) ekbdksykWth

(D) ,EFkzksiksesVªh

3. fMLdl ds foekspu ds le; %

(A) vfHkdsUæ cy] vidsUæ cy ls

vf/kd gksrk gS

(B) vidsUæ cy] vfHkdsUæ cy ls

vf/kd gksrk gS

(C) vfHkdsUæ cy ,oa vidsUæ cy nksukas

'kwU; gks tkrs gS

(D) mi;qZDr esa ls dksbZ ugha

4. U;wVu ds xfrfo"k;d f}rh; fu;e dks ;g Hkh

dgrs gaS %

(A) tM+Ro dk fu;e

(B) fØ;k&çfrfØ;k dk fu;e

(C) laosx dk fu;e

(D) xq#Rokd"kZ.k dk fu;e

5. ekuoHkqtk esa çpfyr mÙkksyd  ç.kkyh gS %

(A) rr̀h; çdkj

(B) f}rh; çdkj

(C) çFke çdkj

(D) mi;qZDr esa ls dksbZ ugha

[P.T.O]
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6. Stability of an object depends on :

(A) Where the mass of the body is in

relation to the velocity that it has

created

(B) Where the mass of the body is in

relation to its dynamic balance

(C) Where the line of gravity is in relation

to the base of support

(D) Where the line of gravity is in relation

to the static balance

7. Endo skeleton involves :

(A) Covering of skin, hair, nails

(B) Bones and cartilages

(C) Bones only

(D) None of the above

8. Exoskeleton involves :

(A) Covering of skin, hair, nails

(B) Bones and Cartilages

(C) Long Bones only

(D) Short Bones only

9. Study of joints is called :

(A) Kinesiology

(B) Biology

(C) Anthropometry

(D) Arthology

10. The Path of an object project thrown into

free air space is known as :

(A) Speed

(B) Abnormal curve

(C) Velocity

(D) Parabola

6. fdlh oLrq dh fLFkjrk fuHkZj gS %

(A) oLrq ds æO;eku ij ftllsa osx iSnk

gqvk gS

(B) oLrq ds xfr'khy larqyu ij ftldk

lEcU/k æO;eku ls gS

(C) xq:Ro js[kk ij ftldk lEcU/k vuqyEc

ds vk/kkj ls gS

(D) xq:Ro js[kk ij ftldk lEcU/k fLFkj

larqyu ls gS

7. vUr% dadky eas lfEefyr gS %

(A) Ropk vkoj.k] cky vkSj uk[kwu

(B) vfLFk vkSj mikfLFk

(C) dsoy vfLFk

(D) mi;qZDr esa ls dksbZ ugha

8. ckâ; dadky esa lfEefyr gS %

(A) Ropk vkoj.k] cky] uk[kwu

(B) vfLFk vkSj mikfLFk

(C) dsoy yEch vfLFk

(D) dsoy NksVh vfLFk

9. lfU/k dk v/;;u dgykrk gS %

(A) ekalis'kh; foKku

(B) thofoKku

(C) ekuofefr

(D) laf/kfoKku

10. eqDr ok;q LFkku esa Qsadh x;h oLrq ds iFk dks

dgrs gS %

(A) xfr

(B) vlkekU; oØ

(C) osx

(D) ijoy;
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11. Mechanics is the branch of Physics that

deals with bodies :

(A) At rest

(B) In motion

(C) Both (A) and (B)

(D) None of the above

12. The branch of Mechanics, which deals the

force that produces or changes the state of

notion is :

(A) Kinematics

(B) Statistics

(C) Biomechanics

(D) Kinetics

13. Which type of lever is most effective in

sports movements ?

(A) Third class

(B) Second class

(C) First class

(D) None of the above

14. Force generation but lengthening is also

known as :

(A) Eccentric contraction

(B) Isotonic contraction

(C) Isometric contraction

(D) Lateral back curve

15. Extension is a movement in which :

(A) Body part moves away from body

(B) The angle of joint reduces

(C) The angle joint increases

(D) Combination of all movements

11. ;kfU=dh HkkSfrdh dh og 'kk[kk gS tks oLrq ls

lEcfU/kr gksrh gS %

(A) foJke voLFkk esa ls

(B) xfr voLFkk esa

(C) nksuksa (A) vkSj (B)

(D) mi;qZDr esa ls dksbZ ugha

12. ;kfU=dh dh og 'kk[kk tks xfr dh fLFkfr dks

mRiUu djus ;k ifjofrZr djus okys cy dk

o.kZu djrh gS] og gS %

(A) xfrdh

(B) lkaf[;dh

(C) tSo ;kfU=dh

(D) xfrt

13. [ksy xfr;ksa esa fdl çdkj dk mRrksyd lcls

çHkkoh gS %

(A) rr̀h; çdkj dk

(B) f}rh; çdkj dk

(C) çFke çdkj dk

(D) mi;qZDr eas ls dksbZ ugha

14. cy mRiUu ds lkFk yEckbZ c<+uk dks ;s Hkh

dgrs gaS %

(A) blsfUVªd ladqpu

(B) vkblksVkWfud ladqpu

(C) vkblksesfVªd ladqpu

(D) ySVjy i`"BoØ

15. foLrkj ,d xfr gS] ftleas %

(A) 'kjhj dk vax 'kjhj ls nwj gksrk gS

(B) lfU/k dk dks.k de gksrk gS

(C) lfU/k dk dks.k c<+rk gS

(D) lHkh xfr;ksa dk la;kstu gS

[P.T.O]
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16. At which of the following places does a

projectile has the greatest velocity ?

(A) At the peak of its trajectory

(B) Half-way up to the peak

(C) At the instant it is launched

(D) It has the same velocity at all places

17. The three main factors affecting the trajectory

of a projectile are :

(A) Velocity of Release

(B) Height of Release

(C) Angle of Release

(D) All of the above

18. Baseball pitch is an example of :

(A) Parabola

(B) Height

(C) Flat

(D) Linear

19. Velocity of release :

(A) is not important to a projectile

(B) determines the angle of the

trajectory

(C) is a result of both vertical and

Horizontal velocity

(D) None of these

20. You can improve stability by :

(A) Increasing base of support

(B) increasing the mass of a body

(C) Lowering the centre of Gravity

(D) All of the above

16. fuEufyf[kr esa ls fdl LFkku ij ç{ksI; dk

osx lcls vf/kd gksrk gS \

(A) blds ç{ksid ds f'k[kj ij

(B) f'k[kj rd ds vk/ks jkLrs ij

(C) ç{ksi ds çkjafHkd LFkku ij

(D) bldk osx leLr LFkkuksa ij leku

gksxk

17. ç{ksI; ds ç{ksi iFk dks çHkkfor djus okys

rhu eq[; dkjd gS %

(A) fjgkbZ dk osx

(B) fjgkbZ dh Å¡pkbZ

(C) fjgkbZ dk dks.k

(D) mi;qZDr esa ls lHkh

18. cslcky fip fdldk mnkgj.k gS \

(A) ijoy;

(B) Å¡pkbZ

(C) lery

(D) js[kh;

19. fjgkbZ dk osx %

(A) ,d ç{ksI; ds fy, egRoiw.kZ ugha gS

(B) ç{ksioØ ds dks.k dk fu/kkZj.k djrh

gS

(C) Å/okZ/kj vkSj {kSfrt nksuksa osxksa dk

ifj.kke gS

(D) buesa ls dksbZ ugha

20. vki fLFkjrk c<+k ldrs gSa %

(A) voyac dk vk/kkj c<+kdj

(B) oLrq dk æO;eku c<+kdj

(C) xq:Ro dsUæ dks uhps djds

(D) mi;qZDr esa ls lHkh
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21. Duration is a measure of :

(A) Distance

(B) Displacement

(C) Force

(D) Time

22. Speed is indicated in :

(A) km/sec2

(B) cm/hour

(C) Newton

(D) km/hr

23. Imaginary line passing laterally from one

side to other is called :

(A) Sagittal axis

(B) Sagittal plane

(C) Vertical axis

(D) Lateral axis

24. Sideways bending of Trunk is an example

of movement in :

(A) Frontal plane and sagittal axis

(B) Sagittal plane and transverse axis

(C) Sagittal plane and sagittal axis

(D) Sagittal plane and lateral axis

25. In isometric contraction, the muscle :

(A) Shortens

(B) Lengthens

(C) Neither shortens nor lengthens

(D) Shortens as well as lengthens

21. vof/k dh eki gS %

(A) nwjh

(B) foLFkkiu

(C) cy

(D) le;

22. xfr bafxr dh tkrh gS %

(A) fdeh@ls-2

(B) lseh@?kaVk

(C) U;wVu

(D) fdeh@?kaVk

23. ,d rjQ ls nwljh rjQ tkus okyh dkYifud

js[kk dgykrh gS %

(A) lftVy v{k

(B) lftVy ry

(C) ofVZdy v{k

(D) ySVjy v{k

24. /kM+ dk ,d rjQ >qduk laosx dk ,d

mnkgj.k gS %

(A) ÝaVy ry vkSj lftVy v{k dk

(B) lftVy ry vkSj VªkalolZ v{k dk

(C) lftVy ry vkSj lftVy v{k dk

(D) lftVy ry vkSj ySVjy v{k dk

25. leferh; ladqpu esa] is'kh %

(A) NksVh gksrh gS

(B) yEch gksrh gS

(C) uk NksVh gksrh gS u gh cM+h

(D) NksVh ,oa yEch nksuksa gksrh gS
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26. Newton’s First Law of Motion states that an

object will remain at rest or in it’s current

state of motion unless :

(A) Acted upon by an unbalanced force

(B) It’s mass is too great

(C) It is pushed, kicked or hit

(D) There is no gravity present

27. Neuton’s Third Law of Motion states that for

every action there is :

(A) An unbalanced force acting upon it

(B) A chain of reaction

(C) An equal and opposite reaction

(D) A range of possible outcomes that

may occur

28. A swimmer pushing his feet off the wall is an

example of which of Newton’s law of

motion ?

(A) Law of Acceleration

(B) Law of Action and Reaction

(C) Law of Inertia

(D) None of these

29. A man wants to shoot an arrow so that it

covers the greatest range (horizontal

distance). At what angle should he shoot

the arrow ?

(A) 10 degrees

(B) 45 degrees

(C) 60 degrees

(D) 90 degrees

26. U;wVu ds xfr ds çFke fu;e esa dgk x;k gS
fd dksbZ oLrq fojkekoLFkk esa ;k viuh orZeku
xfr dh voLFkk esa rc rd jgsxh tc rdA
(A) vlarqfyr cy }kjk dk;Z u fd;k

tk;s
(B) mldk æO;eku cgqr vf/kd u gks
(C) bls /kDdk] fdd ;k fgV u fd;k

tk;s

(D) dksbZ xq:Rokd"kZ.k ekStwn u gks

27. U;wVu ds xfr ds rhljs fu;e esa dgk x;k gS

fd çR;sd fØ;k ds fy, %

(A) ml ij ,d vlarqfyr cy dk;Zjr

gS

(B) çfrfØ;k dh ,d Ük̀àa[kyk gS

(C) ,dleku vkSj foijhr çfrfØ;k gS

(D) laHkkfor ifj.kkeksa dh ,d Ükà[kyk tks

?kfVr gks ldrh gS

28. ,d rSjkd vius iSjksa ls nhokj dks /kdsyrk gS]

U;wVu ds xfr ds fdl fu;e dk ,d mnkgj.k

gS \

(A) Roj.k dk fu;e

(B) fØ;k ,oa çfrfØ;k dk fu;e

(C) tM+Ro dk fu;e

(D) buesa ls dksbZ ugha

29. ,d vkneh ,d rhj pykuk pkgrk gS tks

lcls vf/kd nwjh r; dj lds ¼{kSfrt nwjh½

mls fdl dks.k ls rhj pykuk pkfg, \

(A) 10 fMxzh ls

(B) 45 fMxzh ls

(C) 60 fMxzh ls

(D) 90 fMxzh ls
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30. The force between two charged bodies is

called:

(A) Muscular force

(B) Gravitational force

(C) Magnetic force

(D) Electrostatic force

31. The force acting on an object may change:

(A) Direction

(B) Shape

(C) Speed

(D) All of the above

32. What causes objects to fall slowly through

the air ?

(A) Weight

(B) Surface area

(C) Color

(D) Mass

33. What is Pressure :

(A) A headache

(B) Something we are all under

(C) The amount of force acting on an

unit of area

(D) Terminal velocity

34. What is Air resistance ?

(A) The force of water

(B) The force that opposes the motion

of objects falling through the earth’s

atmosphere

(C) A vacuum

(D) Terminal velocity

30. nks vkosf'kr fiaMksa ds e/; yxus okys cy dks

dgrs gSa %

(A) is'kh; cy

(B) xq#Rokd"kZ.k cy

(C) pqEcdh; cy

(D) fo|qrLFkSfrd cy

31. fdlh oLrq ij yxus okyk cy cny ldrk

gS %

(A) fn'kk

(B) vkdkj

(C) xfr

(D) mi;qZDr esa ls lHkh

32. fdlh oLrq dk gok esa /khjs&/khjs fxjus dk

dkj.k D;k gS \

(A) Hkkj

(B) ry {ks=

(C) jax

(D) æO;eku

33. nkc D;k gS \

(A) ljnnZ

(B) dqN ,slk ge lc ftlds v/khu gSa

(C) {ks=Qy dh ,d bdkbZ ij dk;Z djus

okys cy dh ek=k

(D) vafre xfr

34. ok;q çfrjks/k D;k gS \

(A) ty dk cy

(B) og cy tks i`Foh ij ok;qeaMy ls

fxjus okyh fdlh oLrq dh xfr dk

fojks/k djrk gS

(C) ,d 'kwU;

(D) vafre xfr

[P.T.O]
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35. For a force on an object there is an equal

and opposite force, is the :

(A) Newton’s First Law of Motion

(B) Newton’s Second Law of Motion

(C) Newton’s Third Law of Motion

(D) None of these

36. A force in the opposite direction to the

motion of the object will cause the object

to :

(A) Speed up

(B) Slow down

(C) Turn

(D) Crash

37. An example of linear motion is :

(A) Running

(B) Diving

(C) Figure Skating

(D) Sumo Wrestling

38. What information does a velocity give that a

speed does not give ?

(A) Rate of change of distance

(B) Direction

(C) Unit of measurement

(D) How fast something travels

39. If you can control both static equilibrium and

dynamic equilibrium, then you are :

(A) Balanced

(B) Static

(C) Accelerating

(D) None of these

35. fdlh oLrq ij vkjksfir cy ds cjkcj gh

foijhr cy yxrk gS %

(A) U;wVu dk xfr fo"k;d çFke fu;e

(B) U;wVu dk xfr fo"k; f}rh; fu;e

(C) U;wVu dk xfr fo"k;d r`rh; fu;e

(D) buesa ls dksbZ ugha

36. oLrq dh xfr dh foijhr fn'kk esa ,d cy ds

dkj.k oLrq -------A

(A) dh xfr c<+sxh

(B) dh xfr ?kVsxh

(C) eqM+ tk;sxh

(D) VwV tk;sxh

37. js[kh; xfr dk ,d mnkgj.k gS %

(A) nkSM+uk

(B) xksrk[kksjh

(C) fQxj LdsfVax

(D) lweks dq'rh

38. osx D;k tkudkjh nsrk gS] tks ,d xfr ugha

nsrh \

(A) nwjh ds ifjorZu dh nj

(B) fn'kk

(C) ekiu dh bdkbZ

(D) dksbZ pht fdruh rsth ls py jgh gS

39. ;fn vki fLFkj larqyu vkSj xfr'khy larqyu

nksuksa dks fu;fU=r dj ldrs gSa rks vki

----------A

(A) larqfyr gSa

(B) fLFkj gSa

(C) Rojko/kZd gaS

(D) buesa ls dksbZ ugha
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40. Sports Biomechancs can be described

as :

(A) Mechanics of sports

(B) Kinesiology

(C) Physics of sports

(D) Sports Dynamics

41. Acceleration of an object will increase as

the net force increases depending on its :

(A) Density

(B) Mass

(C) Shape

(D) Volume

42. In which of the following games friction acts

as a disadvantageous part?

(A) Racing

(B) Gymnastics

(C) Cycling

(D) None of the above

43. The point through which the whole weight of

the body acts is called:

(A) Inertial point

(B) Centre of gravity

(C) Centroid

(D) Central point

44. The state of force is expressed by:

(A) Weight

(B) Mass

(C) Magnitude

(D) Longitudinal force

40. [ksy tSo;kfU=dh dk o.kZu fuEu ds :i esa

fd;k tk ldrk gS %

(A) [ksy dh ;kfU=dh

(B) ekalis'kh; foKku

(C) [ksy dh HkkSfrdh

(D) [ksy dh xfrdh

41. 'kq) cy c<+us ij fdlh oLrq dk Roj.k c<+

tk;sxkA ;s fuHkZj djrk gS %

(A) ?kuRo ij

(B) æO;eku ij

(C) vkdkj ij

(D) vk;ru ij

42. fuEufyf[kr esa ls fdl [ksy esa ?k"kZ.k ,d

gkfu ds :i esa dk;Z djrk gSa \

(A) nkSM+

(B) fteukfLVd

(C) lkbfDayx

(D) mi;qZDr esa ls dksbZ ugha

43. og fcUnq ftlls gksdj 'kjhj dk iwjk Hkkj

dk;Z djrk gS] dgykrk gS %

(A) tM+Roh; fcUnq

(B) xq#RodsUæ

(C) dsUæd

(D) dsUæ fcUnq

44. cy dh fLFkfr --------- ds }kjk O;Dr dh
tkrh gSA
(A) Hkkj
(B) æO;eku
(C) ifjek.k

(D) vuqnS/;Z cy
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45. A large mass has greater :

(A) Acceleration

(B) Momentum

(C) Velocity

(D) None of these

46. What is Force ?

(A) A push exerted on an object

(B) A push or pull exerted on an object

(C) A pull exerted on an object

(D) None of these

47. With unbalanced forces, the object will move

in the direction of ————— force.

(A) Larger

(B) Smaller

(C) Equal

(D) All of the above

48. Objects attraction to one another is called

(like us to earth) :

(A) Friction

(B) Inertia

(C) Force

(D) Gravity

49. An object at rest will ———— if no outside

forces are applied.

(A) stay at rest

(B) increase velocity

(C) decrease mass

(D) None of these

45. ,d cM+s æO;eku esa vf/kd gksrk gS %

(A) Roj.k

(B) laosx

(C) osx

(D) buesa ls dksbZ ugha

46. cy D;k gS \
(A) fdlh oLrq ij yxk;k x;k /kDdk
(B) fdlh oLrq ij yxk;k x;k /kDdk ;k

f[kapko
(C) fdlh oLrq ij yxk;k x;k f[kapko

(D) buesa ls dksbZ ugha

47. vlarqfyr cy ls oLrq fdl fn'kk esa xfr

djsxh \

(A) cM+s ¼Hkkjh½

(B) gYds

(C) cjkcj

(D) mi;qZDr lHkh

48. oLrq dk ,d&nwljs ds çfr vkd"kZ.k dgykrk

gS ¼tSls ge i`Foh ds çfr vkdf"kZr gksrs gS½ %

(A) ?k"kZ.k

(B) tM+Ro

(C) cy

(D) xq#Rokd"kZ.k

49. ;fn dksbZ ckâ; cy vkjksfir ugha gS rks

fojkekoLFkk dh oLrq-----------A

(A) fojkekoLFkk esa jgsxh

(B) dk osx c<+ tk;sxk

(C) dk æO;eku de gks tk;sxk

(D) buesa ls dksbZ ugha
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50. Boxer’s muscles are :

(A) Trapezius

(B) Sterno  Cliedomastoid

(C) Abdominal

(D) Deltoid

51. Neck joint is an example of :

(A) Pivot joint

(B) Hinge joint

(C) Saddle joint

(D) Condyloid joint

52. Trapeziums muscles help in :

(A) Pushing the neck backward

(B) Punching

(C) Raising the leg forward

(D) None of the above

53. The strongest ligament of Hip joint is :

(A) Pub femoral

(B) Ileofemoral

(C) Ischiofemoral

(D) None of the above

54. Synovial joint is :

(A) Slightly movable

(B) Freely movable

(C) Both (A) and (B)

(D) None of the above

55. Which of the following is a fibrous joint ?

(A) Joints of the skull

(B) Joints of the fingers

(C) Joints of the ribs

(D) All of the above

50. ckDlj dh isf'k;k¡ gaS %

(A) VªSihft;l

(B) LVuksZDysMkseLVkW;M

(C) mnjh;

(D) MsYVkW;M

51. xys dh lfU/k ,d mnkgj.k gS %

(A) dhy lfU/k dk

(B) dCtsnkj lfU/k dk

(C) dkBh ¼lSMy½ lfU/k dk

(D) LFkwydk; lfU/k dk

52. VªSihft;e isf'k;k¡ lgk;rk djrh gS %

(A) xnZu dks ihNs /kdsyus esa

(B) eqDdsckth esa

(C) iSj vkxs c<+kus esa

(D) mijksDr esa ls dksbZ ugha

53. dwYgs dh lfU/k dh lcls etcwr fyxkesUV

gS %

(A) ic Qseksjy

(B) bfy;ksQseksjy

(C) bf'pvksQseksjy

(D) mi;qZDr esa ls dksbZ ugha

54. 'ys"k tksM+ gS %

(A) v)Zpy

(B) eqDr py

(C) nksuksa (A) vkSj (B)

(D) mi;qZDr esa ls dksbZ ugha

55. fuEufyf[kr esa ls dkSu rUrq lfU/k gS \

(A) [kksiM+h dh lfU/k

(B) vaxqfy;ksa dh lfU/k

(C) ilfy;kas dh lfU/k

(D) mi;qZDr esa ls lHkh



1106-B/100 (  14  )

56. Biomechanics deals with which of the

following ?

(A) Force

(B) Balance and stability

(C) Motion

(D) All of these

57. You are competing in a 100m race in Pool.

Each length of the Pool is 50m.  What is

your displacement ?

(A) 0 m

(B) 50 m

(C) 100 m

(D) None of these

58. In the running of 400m race, which type of

motion allows to do so ?

(A) Linear

(B) Angular

(C) Linear and angular

(D) Static

59. A fast runner :

(A) has a long stride and high frequency

(B) has a short stride and high

frequency

(C) has a long stride and low frequency

(D) None of these

60. "Low center of Gravity leads to more

stability" The statement is :

(A) True

(B) False

(C) Sometimes true

(D) Can't say

56. tSo;kfU=dh fuEufyf[kr es a ls fdlls
lEcfU/kr gS \

(A) cy

(B) larqyu vkSj fLFkjrk

(C) xfr

(D) buesa ls lHkh
57. vki ,d iwy esa 100eh- dh çfrLi/kkZ dj jgs

gaSA iwy ds çR;sd Hkkx dh yEckbZ 50eh- gSA
vkidk foLFkkiu D;k gS \

(A) 'kwU; eh-

(B) 50 eh-

(C) 100 eh-

(D) buesa ls dksbZ ugha

58. 400eh- dh nkSM+ esa fdl çdkj dh xfr dks
,slk djus dh vuqefr gS \

(A) js[kh;

(B) dks.kh;

(C) js[kh; vkSj dks.kh;

(D) fLFkj
59. ,d rst /kkod %

(A) ,d yach çxfr ¼dne½ vkSj mPp
vko`fÙk j[krk gS

(B) ,d NksVh çxfr vkSj mPp vkof̀Ùk
j[krk gS

(C) ,d yach çxfr vkSj fuEu vko`fÙk
j[krk gS

(D) buesa ls dksbZ ugha
60. ßxq:Rokd"kZ.k dk fuEu dsUæ vf/kd fLFkjrk

dh vksj ys tkrk gSÞ ;g dFku gS %
(A) lR;
(B) vlR;

(C) dHkh&dHkh lR;

(D) dg ugha ldrs
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ROUGH WORK/jQ dk;Z



Example :

Question :

Q.1

Q.2

Q.3

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question
Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
g q, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s ] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ysaA

A C D

A D

A C D

B

A C D

A D

A C D

B


